HERALINOS OOD ALIVOS

County of Hernando

Procurement Department

Carla Rossiter-Smith, Chief Procurement Officer 15470 Flight Path Drive, Brooksville, FL 34604

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal

Improvements at the Intersection of Mariner Blvd & Landover Blvd South

RESPONSE DEADLINE: September 23, 2024 at 10:00 am Report Generated: Monday, September 23, 2024

SELECTED VENDOR TOTALS

Vendor	Total
Highway Safety Devices, Inc.	\$1,706,180.30
Ajax Paving Industries of Florida LLC	\$3,086,647.00

PROJECT 1: WILFONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRIVE AT PRINCETON RD/CAREER PATH WAY

PROJE	PROJECT 1: WILFONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRIVE AT PRINCETON RD/CAREER PATH WAY				_	Industries of da LLC	Highway Safety Devices, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	1	MOBILIZATION	1	LS	\$292,000.00	\$292,000.00	\$119,430.00	\$119,430.00
Х	2	MAINTENANCE OF TRAFFIC	1	LS	\$175,000.00	\$175,000.00	\$56,000.00	\$56,000.00
Х	3	SEDIMENT BARRIER	155	LF	\$15.00	\$2,325.00	\$7.80	\$1,209.00
X	4	SOIL TRACKING PREVENTION DEVICE	2	EA	\$6,600.00	\$13,200.00	\$5,900.00	\$11,800.00
Х	5	INLET PROTECTION SYSTEM	1	EA	\$1,200.00	\$1,200.00	\$465.00	\$465.00

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

PROJE	CT 1: WILI	FONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRI RD/CAREER PATH WAY	VE AT PRIN	CETON		Industries of da LLC		fety Devices, nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	6	LITTER REMOVAL AND DISPOSAL	1.3	AC	\$1,150.00	\$1,495.00	\$925.00	\$1,202.50
Х	7	MOWING	1.3	AC	\$1,150.00	\$1,495.00	\$1,200.00	\$1,560.00
Х	8	CLEARING AND GRUBBING (0.04 AC)	1	LS	\$8,300.00	\$8,300.00	\$9,300.00	\$9,300.00
Х	9	REGULAR EXCAVATION	18.5	CY	\$900.00	\$16,650.00	\$155.00	\$2,867.50
Х	10	EMBANKMENT	9.2	CY	\$830.00	\$7,636.00	\$155.00	\$1,426.00
Х	11	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	50	SY	\$300.00	\$15,000.00	\$350.00	\$17,500.00
Х	12	DETECTABLE WARNINGS	104	SF	\$30.00	\$3,120.00	\$62.00	\$6,448.00
Х	13	PERFORMANCE TURF (SOD)	129	SY	\$130.00	\$16,770.00	\$33.50	\$4,321.50
Х	14	SINGLE POST SIGN, REMOVE	2	EA	\$140.00	\$280.00	\$155.00	\$310.00
Х	15	MULTI- POST SIGN, F&I GROUND MOUNT, 31-50 SF	2	EA	\$13,000.00	\$26,000.00	\$9,450.00	\$18,900.00
Х	16	PAINTED PAVEMENT MARKINGS, FINAL SURFACE	1	LS	\$5,650.00	\$5,650.00	\$7,750.00	\$7,750.00
X	17	PAINTED PAVEMENT MARKINGS, STD., WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"	531	LF	\$2.00	\$1,062.00	\$12.50	\$6,637.50
Х	18	PAINTED PAVEMENT MARKINGS, STD., WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"	83	LF	\$2.00	\$166.00	\$23.50	\$1,950.50

EVALUATION TABULATION

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

PROJEC	CT 1: WIL	FONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRIV RD/CAREER PATH WAY	/E AT PRING	CETON		Industries of da LLC	Highway Safety Devices, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	19	THERMOPLASTIC, STD., WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	531	LF	\$8.00	\$4,248.00	\$7.80	\$4,141.80
Х	20	THERMOPLASTIC, STD., WHITE, SOLID, 24" FOR STOP LINE	83	LF	\$10.00	\$830.00	\$15.50	\$1,286.50
Х	21	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	418	LF	\$25.00	\$10,450.00	\$28.00	\$11,704.00
Х	22	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	820	LF	\$60.00	\$49,200.00	\$37.50	\$30,750.00
Х	23	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	1925	LF	\$80.00	\$154,000.00	\$54.50	\$104,912.50
X	24	SIGNAL CABLE-NEW OR RECONSTRUCTED INTERSECTION, FURNISH & INSTALL	1	PI	\$21,000.00	\$21,000.00	\$13,500.00	\$13,500.00
Х	25	FIBER OPTIC CABLE, F&I, UNDERGROUND, 13 - 48 FIBERS	175	LF	\$8.00	\$1,400.00	\$5.00	\$875.00
Х	26	FIBER OPTIC CABLE, F&I, UNDERGROUND, 97 - 144 FIBERS	2955	LF	\$9.00	\$26,595.00	\$5.80	\$17,139.00
Х	27	FIBER OPTIC CABLE, REMOVE, UNDERGROUND	2160	LF	\$2.00	\$4,320.00	\$1.60	\$3,456.00
Х	28	FIBER OPTIC CONNECTION, INSTALL, SPLICE	348	EA	\$110.00	\$38,280.00	\$70.00	\$24,360.00
Х	29	FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE ENCLOSURE	3	EA	\$2,650.00	\$7,950.00	\$1,750.00	\$5,250.00

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

PROJEC	CT 1: WIL	FONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRIV. RD/CAREER PATH WAY	/E AT PRIN	CETON	_	Industries of da LLC	, ,	fety Devices, nc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	30	FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE TRAY	28	EA	\$120.00	\$3,360.00	\$77.50	\$2,170.00
X	31	FIBER OPTIC CONNECTION HARDWARE, F&I, PRETERMINATED CONNECTOR ASSEMBLY	1	EA	\$130.00	\$130.00	\$85.50	\$85.50
X	32	FIBER OPTIC CONNECTION HARDWARE, F&I, PATCH PANEL- FIELD TERMINATED	1	EA	\$9,350.00	\$9,350.00	\$6,150.00	\$6,150.00
X	33	FIBER OPTIC CONNECTION HARDWARE, F&I, CONNECTOR PANEL	1	EA	\$230.00	\$230.00	\$155.00	\$155.00
Х	34	PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE	4	EA	\$5,550.00	\$22,200.00	\$3,650.00	\$14,600.00
X	35	PULL & SPLICE BOX, F&I, 30" X 60" RECTANGULAR OR 36" ROUND COVER SIZE	3	EA	\$11,000.00	\$33,000.00	\$6,950.00	\$20,850.00
Х	36	PULL & SPLICE BOX, F&I, 17" X 30" COVER SIZE	20	EA	\$3,500.00	\$70,000.00	\$2,350.00	\$47,000.00
X	37	ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR	1	AS	\$7,250.00	\$7,250.00	\$4,800.00	\$4,800.00
Х	38	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	40	LF	\$20.00	\$800.00	\$14.00	\$560.00
X	39	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	1	EA	\$3,750.00	\$3,750.00	\$2,450.00	\$2,450.00

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

PROJE	CT 1: WILFONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRIVE AT PRINCETON RD/CAREER PATH WAY			CETON		Industries of da LLC	Highway Safety Devices, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	40	ALUMINUM SIGNALS POLE, FURNISH & INSTALL PEDESTAL	8	EA	\$3,650.00	\$29,200.00	\$2,450.00	\$19,600.00
Х	41	STEEL MAST ARM ASSEMBLY, FURNISH AND INSTALL, SINGLE ARM 50'	1	EA	\$110,000.00	\$110,000.00	\$82,600.00	\$82,600.00
Х	42	STEEL MAST ARM ASSEMBLY, FURNISH AND INSTALL, SINGLE ARM 70'	1	EA	\$105,000.00	\$105,000.00	\$80,000.00	\$80,000.00
Х	43	STEEL MAST ARM ASSEMBLY, FURNISH AND INSTALL, DOUBLE ARM 78'-70'	1	EA	\$185,000.00	\$185,000.00	\$121,000.00	\$121,000.00
Х	44	TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, 3 SECTION, 1 WAY	8	AS	\$2,200.00	\$17,600.00	\$1,450.00	\$11,600.00
Х	45	TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, 4 SECTION, 1 WAY	2	AS	\$2,950.00	\$5,900.00	\$1,950.00	\$3,900.00
Х	46	PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	8	AS	\$1,300.00	\$10,400.00	\$845.00	\$6,760.00
Х	47	VEHICLE DETECTION SYSTEM- VIDEO, FURNISH & INSTALL CABINET EQUIPMENT	1	EA	\$11,000.00	\$11,000.00	\$7,150.00	\$7,150.00
Х	48	VEHICLE DETECTION SYSTEM- VIDEO, FURNISH & INSTALL ABOVE GROUND EQUIPMENT	4	EA	\$19,000.00	\$76,000.00	\$12,500.00	\$50,000.00

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

PROJE	CT 1: WIL	FONG CITIZENS CENTER FOR SUCCESS ON SPRING HILL DRIV RD/CAREER PATH WAY	VE AT PRIN	CETON		Industries of da LLC		afety Devices, nc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	
X	49	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	8	EA	\$430.00	\$3,440.00	\$280.00	\$2,240.00	
Х	50	TRAFFIC CONTROLLER ASSEMBLY, F&I, NEMA, 2 PREEMPTION	1	AS	\$77,000.00	\$77,000.00	\$50,300.00	\$50,300.00	
Х	51	ITS CCTV CAMERA, F&I, DOME PTZ ENCLOSURE - PRESSURIZED, IP, HIGH DEFINITION	1	EA	\$11,000.00	\$11,000.00	\$7,400.00	\$7,400.00	
Х	52	MANAGED FIELD ETHERNET SWITCH, F&I	1	EA	\$4,800.00	\$4,800.00	\$3,150.00	\$3,150.00	
Х	53	UNINTERRUPTIBLE POWER SUPPLY, F&I, LINE INTERACTIVE WITH CABINET	1	EA	\$22,000.00	\$22,000.00	\$14,500.00	\$14,500.00	
Х	54	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF	2	EA	\$1,350.00	\$2,700.00	\$900.00	\$1,800.00	
Х	55	INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL OVERHEAD MOUNT, 12-18 SF	4	EA	\$6,900.00	\$27,600.00	\$4,550.00	\$18,200.00	
Total				ı		\$1,754,332.00		\$1,065,472.80	

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

PROJECT 2: MARINER BLVD. AND LANDOVER BLVD. SOUTH TRAFFIC SIGNALIZATON

ا	PROJECT 2	2: MARINER BLVD. AND LANDOVER BLVD. SOUTH TRAFFIC SIG	NALIZATON		_	Industries of da, LLC	Highway Safety Devices, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	56	MOBILIZATION	1	LS	\$260,000.00	\$260,000.00	\$51,185.00	\$51,185.00
Х	57	MAINTENANCE OF TRAFFIC	1	LS	\$345,000.00	\$345,000.00	\$50,600.00	\$50,600.00
Х	58	TEMPORARY SIGNALIZATION AND MAINTENANCE, INTERSECTION	1	LS	\$110,000.00	\$110,000.00	\$73,100.00	\$73,100.00
Х	59	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	140	LF	\$50.00	\$7,000.00	\$33.00	\$4,620.00
Х	60	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	320	LF	\$75.00	\$24,000.00	\$50.50	\$16,160.00
Х	61	CONDUIT, FURNISH & INSTALL, ABOVEGROUND	55	LF	\$75.00	\$4,125.00	\$50.50	\$2,777.50
Х	62	SIGNAL CABLE-NEW OR RECONSTRUCTED INTERSECTION, FURNISH & INSTALL	1	PI	\$21,000.00	\$21,000.00	\$13,600.00	\$13,600.00
Х	63	SIGNAL CABLE, REMOVE-INTERSECTION	1	PI	\$1,750.00	\$1,750.00	\$1,150.00	\$1,150.00
Х	64	SPAN WIRE ASSEMBLY, F&I, TWO POINT, BOX OR DROP BOX	1	PI	\$17,000.00	\$17,000.00	\$11,000.00	\$11,000.00
Х	65	PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE	1	EA	\$5,550.00	\$5,550.00	\$3,650.00	\$3,650.00
Х	66	PULL & SPLICE BOX, F&I, 17" X 30" COVER SIZE	10	EA	\$3,500.00	\$35,000.00	\$2,300.00	\$23,000.00

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

ا	PROJECT 2	2: MARINER BLVD. AND LANDOVER BLVD. SOUTH TRAFFIC SIGI	NALIZATON	I	Ajax Paving Industries of Florida, LLC		Highway Safety Devices, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	67	ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASED BY CONTRACTOR	1	AS	\$7,250.00	\$7,250.00	\$4,800.00	\$4,800.00
Х	68	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	70	LF	\$20.00	\$1,400.00	\$12.50	\$875.00
X	69	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE (12')	1	EA	\$3,400.00	\$3,400.00	\$2,200.00	\$2,200.00
X	70	PRESTRESSED CONCRETE POLE, F&I, TYPE P-VIII	4	EA	\$51,000.00	\$204,000.00	\$42,900.00	\$171,600.00
X	71	PRESTRESSED CONCRETE POLE, COMPLETE POLE REMOVAL-POLE 30' AND GREATER	4	EA	\$14,000.00	\$56,000.00	\$14,900.00	\$59,600.00
X	72	ALUMINUM SIGNALS POLE, PEDESTAL	8	EA	\$3,650.00	\$29,200.00	\$2,450.00	\$19,600.00
X	73	VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, 3 SECTION, 1 WAY	8	AS	\$2,200.00	\$17,600.00	\$1,450.00	\$11,600.00
X	74	VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, 4 SECTION, 1 WAY	4	AS	\$2,950.00	\$11,800.00	\$1,950.00	\$7,800.00
X	75	PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	8	AS	\$1,300.00	\$10,400.00	\$845.00	\$6,760.00
X	76	VEHICLE DETECTION SYSTEM-VIDEO, FURNISH & INSTALL CABINET EQUIPMENT	1	EA	\$11,000.00	\$11,000.00	\$7,150.00	\$7,150.00

EVALUATION TABULATION

ITB No. 24-CG00864/JC

New Traffic Signal Construction for Wilfong Citizens Center for Success on Spring Hill Dr & Traffic Signal Improvements at the Intersection of Mariner Blvd & Landover Blvd South

١	PROJECT 2: MARINER BLVD. AND LANDOVER BLVD. SOUTH TRAFFIC SIGNALIZATON					Industries of da, LLC	Highway Safety Devices, Inc.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	77	VEHICLE DETECTION SYSTEM-VIDEO, FURNISH & INSTALL ABOVE GROUND EQUIPMENT	4	EA	\$19,000.00	\$76,000.00	\$12,090.00	\$48,360.00
X	78	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	8	EA	\$430.00	\$3,440.00	\$280.00	\$2,240.00
Х	79	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF	8	EA	\$1,300.00	\$10,400.00	\$860.00	\$6,880.00
Х	80	INTERNALLY ILLUMINATED SIGN, FURNISH & INSTALL, OVERHEAD MOUNT, 12-18 SF	4	EA	\$15,000.00	\$60,000.00	\$10,100.00	\$40,400.00
Total						\$1,332,315.00		\$640,707.50

Alisa Pike

Alisa Pike, Procurement Coordinator